Week | THURSDAY - 26.03.2020

IALT Dinvide - Soi
Remember to wse the bus stop method. Watch the video to support
sour learning if syou need. Give youwr answer with remainders (R).

) 4265 divided by 6  |h) 425 divided by Il L) 145 + 7

2. Complete the Carroll diagram. Use place value counters to help you.

Remainder of 1 Remainder of 2

Answer between
1,000 and 3,000

Answer above
3,000

([ 3364:3 | | 44864 | [ sa25:2 | [ o9e35:3 |

4, Use >, < or = to complete the statement below.

6|7 8 4 6 719 1 4 7
1,000 1,000 1,000 100 100 100 10 10 1 1 1,000 1,000 1,000 100 10 10 1 1 1
1,000 1,000 100 100 100 10 1 1 1,000 1,000 1,000 10 1 1
1,000 1,000 100 100 10 1 1 1,000 1,000 1,000 10 1 1

Challenge - Give me .answer AND the irwerse calculation.

75 x 6 =7




